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‘.r,;":_u.f;o run Machine 1 for an hour is $2. During that hour
#-.ts. The cost to run Machine 2 for an hour is $2.40 Dur'in that h i

il ost tc . .40, our, Machine
4 polts and 180 nuts. With a combined running ti 5 pieloton sl

7, ' me of no more that 30 hours, how long should
4 h machine run to produce an order of at ieast 2080 bolts and 1520 nuts at the minimum
gperating cost? 2

Machine 1 produces 240 bolts and
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6. A company makes whole-wheat crackers and sesame crackers. The crackers are sold by the box.
Each box of wheat crackers contains 5 packets and each box of sesame crackers contains 3
packets. The company cannot produce more than 150 packets of crackers per minute, but at least
15 boxes of whole-wheat crackers and at least EDh,oxes of sesame crackers must be produced
per minute, If the profit per box of whole-wheat crackers is 10 cents and the profit per box of
sesame crackers is 5 cents, how many boxes of each type should be produced per minute in
. order to maximize profits? What is the maximum profit?
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A biologist wishes to feed laboratory rabbits a mixture of twe types of foods. Type i contains 8g ™

of fat, 12 g of carbohydrates, and 2 g of protein per ounce, whereas type |l contains 12g of fat, 12 N\
g of carbohydrates, and 1 g of protein per ounce. Type | costs $.20 per ounce and‘type Il costs

$.30 per ounce. The rabbits each receive a daily minimum of 24g of fat, 36g of carbohydrates,

and 4 g of protein per ounce, but get no more than 5 oz of food per day. How many ounces of

each food type should be fed to each rabbit daily to satisfy the dietary requirements at minimum

costs?
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Denim Duds makes jackets and jeans. Each garment must be cu
There are 40 worker-hours per day available for cutting and 52 w
sewing. Jackets require 1 hour for cutting and 4 hours for se
2 hours to sew. Demin Duds makes $14 on €ach jacket the
jeans. How many of each garment should be made by the

tfrom a pattern and sewn.
orkers-hours available for

wing. Jeans take 2 hours to cut and
y sell and an $8 profit on each pair of
company to make the most profit?
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